MCQ Paediatrics
1.What is a normal direct bilirubin in neonates?

a) <10

b) <20

c) <30

d) <40

e) <50

2.Which is not a cause of neonatal jaundice in the first 24 hours?

a) rhesus incompatability

b) ABO incompatability

c) Sepsis

d) Congenital infections..rubella/CMV

e) Physiological jaundice

3.Which is not true about the cause of neonatal jaundice listed?

a) breast milk jaundice---occurs late after 10 to 14 days

b) biliary atresia will cause pale stools

c) galactosemia---jaundice occurs at 2-5 days and is diagnosed by reducing substances in the urine

d) cephalohematoma do not to cause jaundice

e) breast milk jaundice does not rise to harmful levels

4.In a term baby at what unconjugated bilirubin level do you consider phototherapy?

a) 200mmol/L

b) 280mmol/L

c) 350mmol/L

d) 450mmol/L

e) 500mmol/L

5.Which is not true of hyaline membrane disease?

a) it is also caused respiratory distress syndrome

b) it tends to occur in those <30 weeks gestation

c) the CXR has a reticular ‘ground glass’ appearance

d) associated respiratory difficulty may not appear until days 4 or 5

e) treatment involves surfactant down ETT

6.Which is not true of the listed causes of respiratory distress?

a) transient tachypnoea of the newborn usually produces only mild early respiratory distress

b) pneumothorax is often associated with meconium aspiration and RDS

c) the commonest early cause of bacterial pneumonia is Grp B hemolytic strep

d) meconium aspiration is due to in utero fetal distress

e) the initial management o f meconium aspiration involves PPV by bag and mask

7.Which is not true of the listed non respiratory cause of respiratory distress?

a) cyanosis of cardiac aetiology does not improve with oxygen

b) respiratory distress due to cardiac aetiology causes significant intercostal retraction

c) respiratory distress associated with metabolic acidosis causes tachypnoea with deep, ineffective breaths

d) cerebral anoxia can produce tachypnoea

e) PDA and VSD can cause cardiac cyanosis

8.Which is not a cause of early neonatal sepsis which originates form the maternal  genito urinary tract?

a) herpes

b) Gp B strep

c) E Coli

d) Listeria moncytogenes

e) Pseudmonas

9.Which is an incorrect statement with regards to neonatal meningitis?

a) cefotaxime 50mg/kg 6hourly should be given

b) benzyl penicillin is not required in this age group

c) if a gram stain show pneumococci then vancomycin should also be given until sensitivities are proven

d) the possible causes include E coli, Grp B strep, listerisia as well as pneumococcus haemophilus type B and meningococcus

e) all of the above are true

10.Which is incorrect with regards to a 6 year old infant?

a) its weight is 20 kg

b) its blood volume is 1600 ml

c) its tidal volume is 200ml

d) the appropriate size ETT is 5.5

e) an oral ETT should be secured at 15 cm

11.What is a normal capillary return?

a) <1 sec

b) <2 sec

c) <3 sec

d) <4 sec

e) <5 sec

12.Which is false regarding resuscitation of the newborn?

a) there is one umbilical vein and two umbilical arteries

b) the number of compressions per minute in CPR is 120

c) the compressions: ventilation ratio is 3:1

d) a term baby usually requires a size 4.5 ETT

e) the initial dose of adrenaline in a term baby is 30 microgm, the second dose is 300 microgm

13.which is false?

a) the oropharyngeal airway is measured from the incisors to the angle of the mandible

b)  the nasopharyngeal airway is measured from the tip of the nose to the angle of the mandible

c) The maintenance fluid requirements for a 16 kg child are 52 ml/hr

d) The potassium requirements for a 16 kg child are 26 mmol/day

e)  The sodium requirements for 16 kg child are about 35 mmol/day

14.Which condition is not made significantly worse by closure of the ductus arteriosis?

a) Severe pulmonary stenosis

b) Severe coartation of the aorta

c) Severe VSD

d) Severe fallots tetralogy

e) Severe aortic stenosis

15.Which is not a major criteria for Rheumatic fever?

a) fever

b) carditis

c) erythema marginatum

d) subcutaneous nodules

e) choreform movements

16.Which is not used to treat rheumatic fever?

a) bed rest

b) aspirin

c) steroids

d) benzyl penicillin

e) digoxin

17.Which should definitely not be used to treat SVT in a 6 month old child.?

a) adenosine

b) verapamil

c) amioderone

d) vagal maneuver

e) digoxin

18.In which condition are steroids not proven to be of any benefit?

a) asthma

b) bronchiolitis

c) croup

d) Addisons disease

e) Angioneurotic oedema

19.Which feature below would be more likely to be found in croup than eppiglottitis?

a) temp>38.5 degrees Celsius

b) drooling saliva

c) soft stridor

d) minimal cough

e) no preceding coryzal illness

20.Which statement is true about adrenaline usage in croup?

a) it reduces the duration of hospitalization

b) it reduces the length  of the illness

c) it reduces the need for intubation

d) it reduces the clinical severity of the illness

e) the dose is 5ml of 1:1000

21.Which is the most common cause of pneumonia in an 8 year old child?

a) mycoplasma

b) pneumococcus

c) viral, esp RSV

d) haemophillus

e) staph aureus

22.Which statement is incorrect with regards to how the RCH recommends the use of MDI and spacers?

a) The only time that nebulisers should replace MDI and spacer is in severe acute asthma.  A MDI inhaler and spacer is as effective as a nebuliser at all other times.

b) Below six years of age, 6 puffs of the MDI equals one nebule

c) Above six years of age, 12 puffs of the MDI equals one nebule

d) 4 puffs of the MDI can be put in the spacer at a time

e) Atrovent should also be given by MDI and spacer

23.Which antibiotic regimen would you give empirically to treat a previously well 3 year old child with suspected meningitis?

a) cefotaxime

b) cefotaxime and benzyl penicillin

c) cefotaxime and benzyl penicillin and gentamicin

d) cefotaxine and gentamicin

e) benzyl peniciilin and gentamicin

24.Which of these is not one of the possible criteria for the diagnosis of Kawasakis disease?

a) fever for 5 days

b) polymorphous rash

c) erythema or oedema of the palms or soles

d) cervical LN,

e) vomiting

f) conjunctivitis, non purulent 

25.Which is not a feature of/or true of scarlet fever?

a) it is caused by group A beta hemolytic strep

b) the rash appears within 2 hours of the onset of fever, vomiting, headache and abdo pain

c) Koplicks  spots

d) Strawberry tongue

e) Circumoral pallor

26.Which is false about the stated illness?

a) a child with hand, foot and mouth disease does not need to be excluded from school

b) a child with fifth disease does not need to be excluded from school

c) Neonatal HSV infection has few serious consequences as long as an adequate course of aciclovir is given

d) rubeela is characterized by posterior auricular lymphadenopathy which precedes a fine maculopapular rash by five days

e) children with measles and rubella should be excluded from school until at least five days after the onset of the rash

27.Which is incorrect with regards to the RCH guidelines for the management of a previously well, low risk child with “fever without a focus”?

a) all children less than one month of age should have a full workup including CSF and be admitted and given empirical antibodies regardless of the results

b) a 2 year old child who looks otherwise well does not need investigation (perhaps a urine culture) or admission

c) a 3 month old child needs a full work up including CSF 

d) and unwell 2 yearold should have a full work up including CSF and can be discharged if results are normal

e) a 3 month old child should be admitted if any results are abnormal or the WCC>15 

28.Which is not true of pyloric stenosis?

a) it most commonly occurs in first born males

b) it is usually seen between four and six weeks of age

c) ABGs show a metabolic alkalosis

d) The chloride is usually <100 and the sodium <130

e) Hyperkalemia is sometimes seen

29.Clinical signs of pyloric stenosis include all of the below except?

a) projectile vomiting

b) palpable rubbery tumour

c) blood in vomitus

d) visible peristalsis

e) dehydration

30.The normal maintenance fluid required in a 24kg child is?

a) 64ml/hr

b) 54ml /hr

c) 74 ml/hr

d) 44ml/hr

e) 84ml/hr

31.The best maintenance fluid for a fasting well 10kg child is?

a) 0.9% saline

b) 5% dextrose

c) 0.18% saline and dextrose 4%

d) 0.45%saline and 4 % dextrose

e) hartmans solution

32.A 6 year old boy presents with hip pain.  Which is not likely to be the diagnosis in this age group?

a) perthes disease

b) irritable hip/transient synovitis

c) septic arthritis

d) slipped capital femoral epiphysis

e) fracture

33.An 8 year old boy presents with Left hip pain whilst ambulating but looks otherwise well.  He is afebrile and has a normal WCC.  The most likely diagnosis is?

a) perthes disease

b) irritable hip/transient synovitis

c) septic arthritis

d) slipped capital femoral epiphysis

e) fracture

34.A child presents with unilateral hip pain.  Which feature would not make you think of slipped capital femoral epiphysis as the diagnosis?

a) age about13 years

b) wt > 90th centile

c) hip externally rotated and shortened

d) decreased ROM especially internal rotation

e) febrile, effusion on ultrasound

35.Which statement is false with regards to acute pharyngitis/tonsillitis? (Pg305)

a) Group A strep is very uncommon as the cause of sore throat in children less than 4 years of age, and 25 % of children > 8

b) GAS is less likely if the child has a cough or coryza

c) The most appropriate antibiotic for GAS is amoxycillin

d) GAS is more likely if the child has enlarged tender tonsillar lymph nodes

e) The presence of a tonsilar exudate is not helpful in differentiating viral form GAS tonsillitis

f) Antibiotic treatment only causes a modest improvement in symptom resolution

36.Which is false with regards to acute otitis media?

a) antibiotics only confer a modest benefit in most cases of ASOM

b) acute symptoms resolve within 24 hours in 60% without antibiotics

c) if antibiotics are used amoxycillin is the agent of choice

d) the degree of redness is relatively unhelpful in deciding whether bacterial infection is present

e) An unwell infant with a fever often have ASOM as the sole diagnosis

37.Which is false about a 1 year old with burns to half of both its legs?

a) the approximate area burnt is 15 %

b) the fluid used to replace losses should be normal saline

c) the maintenance fluid in such a child would be 1000ml/hr

d) the additional fluid requirement would be 600ml/day

e) this child should be managed as an inpatient at a specialized facility

38.How many umbilical veins are there?

a) 0

b) 1

c) 2

d) 3

e) 4

39.Which is a false statement about spine injuries in children?

a) most commonly the upper cervical spine is involved

b) the thoracolumbar spine is rarely damaged in children

c) up to 40% of children under seven have pseudosubluxation of C3/C4 and C2/C3

d) Spinal Cord injury usually only occurs with radiological abnormality

e) The gap between C1 and the anterior surface of the dens should not exceed 5mm

40.With regards to childhood gastroenteritis, which statement is false?

a) rotavirus is responsible for 2/3 of the the cases of gastroeneteritis

b) A  rotavirus vaccine has been invented but is no longer in use as an association between it and intersusseption is being investigated

c) Bacterial causes of diarrohea, without bacteremia should be treated with appropriate antibiotics

d) Adenovirus is most common under 12 months of age

e) Rotavirus Ds and Vs can last as long as 21 days

41.With regards to febrile convulsions which statement is incorrect?

a) they occur in 3% of children aged 6 months to 5 years

b) 3% of sufferers will go on to develop epilepsy

c) a recurrence of a febrile convulsion is more likely if there is a family history of  febrile convulsions

d) 30% will experience a second febrile convulsion in their lifetime

e) appropriate investigations include EEG with or without CT/MRI

42.Which statement is incorrect with regards to Duchenes muscular dystrophy?

a) it is sex linked recessive usually, making it much more common in boys

b) symptoms appear in the first 5 years of life

c) death is usually between the ages of 15 and 25 and due to respiratory illness

d) prominence of the calf muscles is an early feature

e) the CK level is not elevated until muscular weakness becomes profound making CK a poor screening test

43.Where are the majority of childhood CNS tumours found?

infratentorial

spinal cord

in the hypothalamic- pituitary axis

cerebral hemispheres

optic nerve 


44.Which is incorrect with regards to childhood UTIs?

15% of test stips are –ve for leucs and nitrites in children with UTI

prophylactic antibiotics should be given to all kids with UTI until renal tract imaging is done

there is no need to investigate asymptomatic siblings of a child with Vesico Ureteric Reflux , for VUR

all children with a previous UTI should have a DMSA scan 2-4 years after the last UTI to look for scarring

a child with  UTI should have and ultrasound and if less then four years old should also have a MCU

45.A 3 week old babe presents with an inguinal hernia which is reducible, how quickly should this babe be operated on?

a) never if it does not happen again

b) within 48 hours

c) within 2 weeks

d) within 2 months

e) within 6 months

46.Which is the most common cause of a transient arthritis in a child?

a) post viral

b) post streptococcal

c) chronic juvenile arthritis

d) henoch schonlein purpura

e) reiters syndrome

47.Which is not true of henoch schonlein purpura?

a) there is usually palpable purpura on the lower limbs

b) the patient is thrombocytopenic

c) they usually suffer abdominal pain

d) they usually suffer nephritis

e) they usually suffer large jt migratory arthritis

48.Which statement is false about Reiters syndrome?

a) it occurs post enteric infections eg.salmonella, shigella, yersinia

b) they can suffer anterior uveitits and sterile pyuria

c) treatment involves NSAIDS and immunosuppressive agents

d) it tends to affect lower limb joints the most

e) there is often a positive family history of the same

49.Which is not true of diptheria?

a) child presents with sore throat and inflamed tonsils

b) in the second week an exotoxin is releases which may cause myocarditis

c) in week 3-7 neuritis with paralysis my occur

d) treatment of the disease involves administraion of benzylpenciillin

e) diptheria antitoxin is given to counteract systemic effects

50.Which type of rash is seen in meningococcal septicemia?

a) purpuric

b) no rash

c) erythematous

d) a combination of the above

e) all of the above

51.When bacterial meningitis is suspected, when should iv dexamenthasone prior to antibiotics as recommended by the RCH?

a) all suspected cases

b) only if purpuric rash

c) not at all

d) if previous hearing difficulties

e) if no previous HiB vaccination, or uncertain 

ANSWERS
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48)C

49) treatment is diptheria antitoxin, and erythromycin is given to eradicated the organisms
50)E
51)C

